=
HETH 2, ;; 76. METFHERBRE |77. mETAESHEE |78. BERAEH
| % | IBfL (% L 1% IEsE [& A HELEY)
=T 4 60.6 6 932 34 13
EFmH 16 45.3 16 84.9 32 14
7= 25 385 22 79.4 14 20
mEf 10 515 7 92.7 27 1.7
TES 28 34.1 8 91.4 17 1.9
JAlgTH 21 405 23 786 23 1.8
BET™H 9 53.1 5 93.3 25 18
TiEFKT 5 58.8 1 96.6 33 14
mAE+mH 7 57.0 10 88.5 18 19
&Emmh 3 61.4 14 86.7 22 1.8
1l 27 34.8 20 82.0 28 1.7
BERT 6 57.5 15 86.0[ 30 15
=T AT 18 422 3 93.9 31 15
H EFET 11 494 29 727 21 1.8
ZZH BT 22 40.4 4 933| 24 18
PlAIIE s 24 38.9 30 70.0 2 25
B 8 55.0 33 43.3 1 27
=rF 14 47.7 18 84.1 16 1.9
A LLET 26 36.3 13 86.7 11 20
RERT 31 298| 21 79.6 10 20
T TErT 20 417 24 76.0 7 2.1
yNIIESH 29 323 34 42.7 3 22
LT 17 422 11 87.7 15 19
=€) /T 30 30.2 31 69.8 12 2.0
bt {ZHT 19 419 28 73.7 26 1.7
& )11 BT 32 260 25 74.7 13 20
Fagsiliing 12 485 9 90.7 19 1.9
EIRET 34 3.4 32 48.9 9 20
HE# 15 474 17 845 6 2.1
FEETET 1 66.7 12 87.6 5 2.2
/a5 + BT 23 390| 26 74.4 8 2.1
XA 33 215 19 834 29 1.6
=FEH 2 65.2| 27 74.2 4 22
vy 13 478 2 940 20 1.9
= 5E 454 84.1 16
ER ER0FEARFTHERE [FAS0FE4A1BIREAE [ER31EIA3H
=g SREDERIRR SRR DERIRR BHERORS. EREALIRAND
HFT BERE BERE MEE#HD. KL
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75. HRZ:

AHH

(- (ABFAHED)

17.16
15.68
14.27
11.84
10.84
8.92

40km




80. XBEHMREGEH

0

=
ErHE ;; 79, TABRREMY (80, ZEBHITIGEMN |81, HLHAIEML
2 R [ AOFALEY) [ IBR [NAOFALEY) | B (A (AOFALZEY)
EEIGi 5 268] 10 2.89 3 3.81
EFmH 18 1.42 14 2.16 27 0.67
7= 10 212 11 247 4 3.62
mEf 4 2.92 7 3.16 1 9.70
TiEm™ 6 2.58 6 3.20 9 2.06
AT 19 1.41 21 1.59 8 213
BET™H 7 253 8 3.11 2 428
TiEFKT 26 0.88 24 1.24 19 117
mA+THh 20 132 20 1.62 13 1.79
&Emmh 13 1.98 12 2.31 22 1.05
1l 12 2.01 15 2.09 18 1.25
BERT 11 2.04 5 327 24 0.82
=T AT 25 0.93 26 0.93 17 1.55
H E7HT 3 3.03 2 3.78 6 3.03
ZZH BT 23 1.11 22 148 21 1.11
PlAIIE s - - - - - -
B - - - - 20 1.12
=rF 2 3.17 3 3.43 7 2.38
ALLET 27 0.57 27 0.57 15 1.71
RERT 1 3.25 1 514 25 0.81
T TErT 29 0.26 29 0.26 12 1.80
yNIIESH - - - - - -
LT 8 2.39 9 291 16 1.61
=€) /T 22 1.12 18 1.86 23 0.93
th E{EHT 28 0.29 28 029 26 0.73
& )11 BT 14 1.93 13 217 11 1.86
Fagsiliing 21 1.24 25 1.24 5 3.19
EIRET - - - - 10 1.98
HE# 9 2.38 4 3.37 32 0.20
FEETET 16 1.54 19 1.71 30 0.51
/a5 + BT 24 093] 23 1.34 14 1.74
XA 15 1.78 16 198 29 0.59
=FEH - - - -| 28 0.65
vy 17 1.42 17 1.87] 31 0.36
= 5E 2.25 254 3.22
ER ERR30E TER30E ER30FE12831H
=g XEBE TEBRE =& - R E AT - SRR ST
HFT BEKE B EARE EL5EE
k=
(NAAFAHED)
3.37
2.91
2.16
1.71
1.24
’ 0.26

40km




